20184 72 10 sl

H207905 YFaEY

1Ml O} S|=H| Cfi= 24

» D M HIZ 0] QREIZH| X[ He,
7\& 57 met—1 172 Sl

»ZUIHEIIE ALE 7|5t 2 20t EY
0 1 AT MR Tk,

«CHEO} 60, CHEHOF 1002HRM 24 OTHE o1ap

=0t 1A O|2tOFS 2| Q2 ZZH|of] HE EEHE
71 21~42%0I| M 5~20% M= 2 242
(T =1Ll 1605 % 2l— 506 MY Al
o2 (6% A, 27| 502 Su|HH UEA|
EAZ 382008—/00¢)

0fo|S 0| X|chA Sic

fZQAE 120% — | DUTTIX| Sy
3017}7 7|& 2 AS 5530H 0|GHE K|S CiAL
MAES 717 0|22 HEX|H HI8
2 ch 0%xK| =
«O[0|S 0| BxY 20137 — 4T 37 2 sty
2022\A71X| 0|8 OFE =2 99t—1 8 ITH
«EEQ0HHSE 11310607} A2 St

o 1 =

S0P | 22 Z2AIZHEE

<01 8A| 0|5} S017| 015 £2, 1 015 %!
Agdate i3 Atz elo| ofF 17!
ZE2AIZHEHS, SOHEAT} SHAte F|Ti2H 7Hs,
(5194 2002147 |Z SHUZC|100% L)

Ottt SOFFX| HIA At AlSt
« Z0{ X2 A3} 2002k — 2500124
Ofith- 2017} SA| SOFE ! AR ot 2!

Hi At T St

=7t
* 20| Argot= HiRA BMRTH S RER7
717t ig 3— 102 2 sy
*S47|H 22X} ool REF7HSURE &S

YR XA

A2/ U5 X4 KEL - DAY @eerea

7}

=

rlo

T 22 HAle SLHREE AR SET0IM F2H S

M|2| ‘R2| 7HE0| |17 (7H20) 7 H ML,

AR R 22 s2 At 5
2 ted] Etes otV IEH= of
019} 01Ol 719= R 4o Zg 7id
ohe dEgo R migtiels Hixe ol =8
3.

Hed AS RS NEARIIARI= Al
F 5¢ "o o1o)7|e7] B LTk
Qlet SipItAl & SE-EHIL. e
SR SEE AR E2 A TR ‘A
SAT, e (i 89] 79), OFs
A, A sia ol S8 -

R BARR: "MEL2 Are] Jete] gt
o Zo] gt Eitz dofrr] ditol 4
7 SRl A mio] WQsHH ™ ‘S
Ak HE 2AIE SPARol si&sh 1= of
e g sl 4 o7 E2 8
Bil HE E80] ESe od 2801 9
ge dsny 1 43t

O{EEE-HE 1630717 A K|9=
FRe 2 7 SR AEMte e
oz X=kle FAES dlladh] 9
ol 2hd FAEA 25 oflA AASH A
SRR EE FA XA SRE UE ST
ACt

S35 S5 28 Ald 5& Zgl
AEREE= Y 608 H0IA 88Y7H,
FUE2 56950007 H0IA ToE A= 2t
Z} Eftiisl S5ok71= At 717l &
16327 H9] AR R FHO thet A
A0 LHdCh= =HEO.

LEsldtiee U S3HEN 3vs
7kt 10227} S5, LIERE dof 2
X2 FHS ok AEFRE FISA
& 50% AHER=CE okg] 58 ATS
Qe FEAZIEY dH=8 & U
= (7)) HE= (M) tisdt dER
B8 F-TA TiE0IA AEFRe T
RS 710] sllels 9 RE THE Srish

AL Azt o

B ere)7 noTy

18> SMe 5 =L CHY

FHER A& AE 1637 3 - FISA A
St A ofat Zh & B I2ATH AR S
Ofs Mz K|2 391 7t d 5537H7HA| =4 S

Azas ARERRE UNE A7RE A9

L.
O 07U SRS Xg
= S AFH AALE Siast. IS
oF I 8EH0 7HISHA] 22 HEEAAL
SHEAl WA}, STF 7R, A187IE B
QA & STUEA AIYAY, HARIEE
Ah= EAR7EI0L EHE S01E ©A
SRI}. 9o = Ol ¢ 508, & 150
Tl EAE=E Bl Ol A9 &
Bl HA E old2 oF 5EHEo|Tt.

T 1A T1EE ORs59] QlSHI= Atelet g1
ot} QEIEH] AZREY 2R ES
2 AAIECE66% BEoiFal, LIHAl 59
£ ERA gF AFEl= =2UdE7}H
EE ZAE 4 QUA ST

OlOE & AHIAE ST, A= 3¢
7H71ECE £50] E 4428 (B91a
= 120%) OI5tOIH OlolEHIIE Al
S 7 AAATH Ao == 5530 (B4

= 150%) MK A1 Thato] EICt,

O|0F | B 22 A|ZHBIE A AIZHES
= 0102} Mol Y -de Y B3lE Tt
=71 ¢1ah Tt 84 Of5 AHAE & REetH
Q= AIAQI0] ZZAIS 1AM EHEEE
A= A2 ). 22 U= 717t
£ Zrj 20|}, Yo met 5FE AR
TR B8t 4= Q1 O, 0] & 1A THaH
MNe FE7 s8U29] 100%E BF6iE
Ct.
‘Ot SOIEZA] HIHA o A A
i 200HHAOIA] 250THI O 2 ST
O] A= Soka2lg Foialr] s thoh
Q1 2R} AFEAI0IA A 37Holl SHoll 2
OlE EARIZO] 100%2 Ao &= &
2 ZHH0] the i & SHEtt SR o
e A= 7§46 12 SHC

HHO] = 35 BT 3Y0A]
1022 SOJUT). 718 HiRAN B4He7h=

T 3 Fe 22 B 5UOIRIE B4
719 SZ=AL] 7257t 5RO thellAl=
7t dee Ul Aot &= St =

90 OJLHOIA R71E 2 ARESHES
HolE =1t

QSRR 7HE |9 Sisl=- EitesS =
0]7] Qlol 2= &4 E
gre 483

HE= SHREO| R e Qloff otsds
HIE TSkl |2 3t} OFsSHlE &
SQIPA0] 7|1E BAALE 52% Ol6tolH
A AHAE & SHRE 7S 01Al AIFEILh of
SESHI= AG7HA T 144 T2t R4 E
= 7Fgoflet & 130HIA ASSIATE oFe
2 THA SEO7E T 184 OEHO 2 S|
1 AHHE 3uH QIAE 17HHo=
ZEL. o]0 tet 5Els B SHRE 7HY
AN 8THHOIA] 10T O 2 5014 212
= HEED

OOlEEAHIA AldtdE BRA4S
120%01A1 150%77kA] Stthohe= Wote =
TE} O EA EH 3R 7 71E E A5
53¢+ OJa 7 = A1 Thedo] E1Tt. A
25F 7] % olgadol tiet g7
A HIgE Ft) 90%7HAl &Y olgo]
C}. opolEHN] XS AR 28H30008 0
Al 47F3000H S 2 EHHstal, 2022\ 77HA
OlOJ=HN] AH|A 018 Ok #EE 9%t
oA 18eFE o= EAIETH 28 =8 Al
Slo|T}.

HIE Sthit &=0] ARpla oz ZpEH
A L= NEVHARE 71EH S OfH
A7F AR EAE QA EH: 62 &
()€ 1= |AGH=E & 7I8s 1
Stal, AbE BRE A HEQLIIEIA]
ZHRIAsA AZEE dEs 2 4+ U
L5 g Aot

/EHAL 7| Xt jwpark@kwangju.co.kr

o
P
oY
ol
w)
rr
o
i
0%

2|EL|A HHE

5/294/2/% R b ]

VOSISEON

slgsH

SO

2352 # Al

HEZ2  H§H| (vaTZd) H| T (20184 71%)

Z2210| ZXIAIZE 7H 850 Ot w 1,920,000 |17z} 7|H19l
0|8 Al FZ 50%,3Y (2, E, 25Y ) 30% D/C
- BEZAESE 0|2 Al &9 (60Box: 130,000 —) W80,000) atey 12& 27| 191 23/
« YAEZ 2 FAIL 10% DC (T Z 0|8 Al 10% DC ML Ot=l) 1275 & | w 3,140,000 191 =71 A| 4259+
Ot21  w 4,350,000 | 1725 7|21 27(H19l
- oflofRe] £ chy| e 22 -
< B EL|A 0|2 A| 3¢ SHt174 50% DC

ShinYang Park Hotol

MEMBERSHIP HOTEL & FITNESS CLUB




